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e set expression [A ‘

IQandCaredeﬁncdas

‘xgg x <-l.or x>2}

- (x€R: |x|22}and,
C={x€R: 1sxs4d}

Sketch on the number line the foll

(u) (A-B)uC.
(n) (AuB)NnC.

The straight line 2y — x - 16,= 0§

If A is the point (-3, 4); determi

P moves so that its distance fror

x = 5. Find the cquation of the log

By using the functions f(x) = ‘I
et

function composition is

(i) associative.

(i) not commutative

x2x3 .2x3x4

el 'F*.'
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F'ind the cosine of the angle between Q;A’ and BC where A, B and C are the points (0,1,3), ¢-1,0,1) bt
and C (1,-1,-2) respectively. \ it pit (3 marks) k
, .
A ;
Under the action of the forces [, = (+i +i+2k)N afnd E; = (-4f + 6j + 2k) N, the body moved a H(
| i h ]
distance V19 metres in the direction of the resultant force. Compute the work done on the body {
4 correct to two decimal places. ; (3 marks)
} ! o ~dx '
T 8 (a) Find: ,’(I) ! J’—*—r-===- (2 m.rk’)
(x+1)vVx2 =1 4
2 X+3 1! | i
i) [ dx ! (2 marks)
X7 = X7 =2x _
Li
{b)  Evaluate [02 Cos’x Sin?x dx (2 marks)
» “
9. (a)  Team A has probability % -7 winning wherever it plays. If A plays 4 games, find the probability
that A wins: s i
(1) at least | game.
(i1) more than half of (he games. (3 marks)
L4
(b)  Cherry and Passion are in ihe table tennis tournament such that the first to win three games wins ' i
the tournament. By using tree diagrani, how many logic possibilitics of the tournament will 54
accur? (3 marks) J
i
1. delow s a frequency distribution table showing the marks obtained by 130 candidates in two )
ditferent subjents, A and B. & o 1
i : . i
Percentage | 1-10 | 11-20 | 21-30 | 31-40 | 41-50 [ 51-60 | 61-70 | 7 _ 81-907| 91-100 - J
| o e é8
: A 0 : 0 ] 3 6 24 30 i3] 1729 13 F B
B RN T3 30 28 25 9 5 PR AR s Ty : o
. (@) Censtruct a table showing the cumulative frequency distribution in each subject and draw in one ] '[.“3‘
g diagram the graplis of their ogives. A R ! (4 marks) LS L
e ! i b4 i Wi
84 " (b) Fram the diagram in (a) above, determine the percentage number of candidates that fail i each ;!
subject if the pass mark in subject A is 55 and that in subject B is 35, ( ﬁ‘h} R Lq
SECTION B (40 marks) ‘
Answer four (3 quesiions irom this section, showing all necessary steps lnc‘l I
! ‘ 4oy
\ 2L In @ certain garage, the manager had the folloﬂ(‘ng@cﬁ“‘ lo
2 m* and for a lorry is 3 m’, Four tcchnici‘m“s are r
. technicians for a lorry per day. He has o maximum’
i technicians available. In addition he is not alloy [
| profit for servicing a saloun car is 40.0091!1&31
H cach type should be cerviced daily in qrdé; lﬂ
A | Al i ! .1“ [
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